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PART — A / 9F-3 Marks / 3% : 40

Note : Attempt all the twenty questions. Each question carries 2 marks. Answer should
not exceed 15 words.

AT - T 20 YAl & Ik AT yd® wyw & R 2 oi Preifa ¥ 99w 94y
q oftre @ e e

i Define Hooke's law.

& % Pram @ wReniig R

2 Define 0.1% proof stress.

0.1% w9oTE yfdew %) aioniyg iR

3 What is the relation between Young's modules and Bulk modulus ?

9 & (TO0H) WIEYER T EGT VORga e § w ogew ¥ 7
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4  Define principal planc of stress.

e whEw weee @ e A
‘ 5 Define Dynamic viscosity. : - -4
5 | ey s urentia
) Define Pascal's law.
A & fawr @ uhei i
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7 Define irrotational flow.

surE e H wEE @i

8 State the condition for-a floating body in stable equilibrium.

ol wmm firs & Wl g @ge) $ uloesy @ sEen sasd |

9  Define velocity potential.

7 fowm @ hma SRERN
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10 Define uniformity coeflicient

O el aronf SIS |

i1 Write down stock's equation for finding settling velocity of small particles.

i owe & AR A () & R T w by e el fded

i2 A sample of dry soil weight 68 gm. Find the volume of voids if the total volume of
the sample is 48 ml and specific gravity of solids is 2.65. Also determine the voids

ratio,
Wwaﬂ%ﬂtﬁmmésw%mﬁ:mﬁmwwwﬁaﬁaﬂtﬁﬂm
gw(aﬁm)z.és%?ﬁﬁqﬁmammﬁmﬁﬁmaﬁﬁaﬂmmﬁwwﬁﬂ

q off waEdl
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13 Under what conditions of water confent the soil remains plastic ?

@ A B e @ o ga wdd () e 7

14  As per Indian standard classification which soil is classified as fine grained soil ?

umﬁuma?ﬁmwéseﬁ'mrzaﬁ?hganﬁﬁzmmﬁmﬁﬁaﬁw?

15 Define coefficient of compressibility.

T Iar oid B Thowia @i
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16 Define influence ling.

g Y@ & g i)

17  What is free body diagram ?

@ fis oy (@a-Prae @) F=0 e ¥7?
18 Describe diagonal tension.
et @ @1 v B
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When the height of a retaining wall is more than about 6 metres which type of retaming
wall is useful and why ?

WG W9 AR B HAE W 6 Mo § SR @ O e weR 9 @ve dar o
Wl B oau Fa g% ol wd ¥ ¢

19

20 Define principal rafter.

ge w4 & uRuiya At
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21 A round bar of steel tapers uniformly from a dia
50 cm. If an axial force of 35000 N is applied at e

bar, E = 205 kN/mm?.
@@aaﬁsoﬁﬁ,g@mwﬁﬁﬁﬁwm%mmﬁ@ 3594, @
2.5%%&@{%%,11%35000}1@a@awmﬁﬁﬁwmw

%a‘r@gaﬂ%ﬁéﬁmﬂ@raﬁmE=zoskN/ﬁﬁl

meter of 3.5 cm to 2.5 cm in a length of
ach end, determine the elongation of the

PR BTV _5_'

- PARY — B / W4 Marks / 3% : 60

' ' Note : Attempt all the twelve questions. Each question carries S marks. Answer should
: not exceed 50 words.
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22 A stream function is defined by the expression y =2x% — 3, calculate the components of

velocity and the velocity of point P(x=3y=2).
Th MR GO () B EHE g = 0,2 )3 art afenfva fear smn ¥ o Redr fig
P(x=3y=2) W 50 T & wmil @1 9 P @ ofr @1 o W Prede)

T T T Ty
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33 Derive the Bernoulli's equation from Fuler's equation and write the assumptions.

W%ﬁﬁwﬁaﬂ%ﬁmﬂ‘éﬁquﬁmﬁaaﬁamwﬁaﬁwwaﬂ%{ﬁgﬁl

[T I

24 A rectangular boat is 5 m long; 3 m wide and 1.2 m high. The boat is 0.8 m in se
water. If the Gentre of gravity is 0.9 m above the bottom of the boat, determine it
Metacentric height [Y sea water = 10.05 kN/m?] .

w smEadE T 5 W wdl, 3 W WS 1.2 W I ¥ TE WA G I
O.Bﬁaﬁg%taﬁmmwﬁ,aﬂﬁ 0.9 M SW A o Wl W &

Sa (erfes Jo) ww @R [y §9R W = 1005 KN/m3 ]
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25 Describe primary consolidation.

wiite dies (Gaifesm) e wb ORe

26  Describe active and passive earth pressures with a small sketch of a retaining wall.

apa o Fifpa ga1 @@ @ av uw ure dar (P am) ¥ @y e we @
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- 37 Define net uliimate bearing capacity and net safe bearing capacity of soil,

Wﬁwmwwam@@%wwﬁuﬁmﬁaaﬁl

28 Discuss assumptions and limitations of direct shear test.

yd BaT gl @ sfruee ud deE fates
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Define the Muller Breslay principle.

TR sens Rigia & ol w5y

30

A 300 mm x 300 mm reinforced concrete member reinforced with 1300 mm2 of steel,

supports an axial compressive load of 440 kN calculate the stresses in concrete and steel,
take m = 13. o

Th weiwa d@le o (300 Wi x 300 Arf) Rred 1300 o W @r-wmew 2
440kN%sm@a@ﬁ@waﬁmmaﬁmmw%iméwmﬁgam

Ca R (@ ) wRE @ o
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31  Prove that (he shearing stress distribution over Rectangular beam is parabolic.

fag i Bp fed deit um § Bafin (o) uidsa @ e goE@wies @ |

32  Describe prestressed concrete.

TH-UREAT HhIE B auiT i |

0é
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PART - C / sim=4 Marks / 3FF : 100

Note : Attempt any 5 questions. Each question carries 20 marks. Answer should not excecd
200 words.

e : aﬁél‘hRuﬁ@ﬁﬂﬁ!muw%mwmﬁuﬁﬁ%im?oosre‘%f%
arftres <& g1 =R

e a0
Q—-‘F"Jlm i
D

P
33
Draw the Bending moment and shear force diagrams for the beam shown above with
the given loads.
w%@éﬂéwawmmﬁaﬁﬁﬁwaﬁa@ﬁaﬁa@fﬁéﬂaﬁaﬁ@
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34 Derive the continuity equation in three dimensional flow in the form ol
Sfrd TR F R wiaew wliet SEEd w A SdE B
du dv  aw
—+—+ =0
dx oy dz
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— 35 Discribe the Swedish circle method to find out the stability of slopes and develop the
Cla+tand N

expression for factor of safety as /'y =

T
e ga Rt g ew @ Ratan Geert @ Ao Bt Gan gReR e Feee w9
i, :CLa+§t;?¢ZN - : SR
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36 Describe the lmitations of plate load test

Qe dis e (dQeddl 9 ww) @ @wen @ oae s
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37

Find out the slope and deflection of the centre line of a simply supported beam with

“central points load by double integration method.

4V
ad

" g L —3"

gﬁw%aﬁ%@rwﬁaﬁnﬁwaﬁm@r%wa%@ﬁmﬁﬁl
e W w0 A R w Rl @ Y aw wem § ww WK w0 gem ¥

IT"

061} - | 26

[Contd...
T

PR L K - - \




[Contd...
B8 EOE VA BT, A

- oy

14 1 06|



Cind the forces in the Prati-truss loaded as shown in Fig.1 by method of sections and/

38
or method of joint as appropriate for different members of truss.
f%ﬁ'-]f(ﬁz;a%ﬁxﬁmama‘fﬁaaw--ﬁfﬁqﬂf&w@g---ﬁfhmmaﬂﬁﬁi
ﬁzm%ﬁﬁmeﬁﬁwwmqﬁﬁaﬁwﬁmgeﬂ%l
Uy Uy Da ]
: \ ST
FS Le L Az L3 \““‘l :
777 S S AS"M R ;
Yok loks jo ksl
- Fig. 1
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n columns as per 15456 : 2000

30  Write down the provisions of longitudinat reinforcement 1
18456 @ 2000 % oFER wWW ¥ TR (e @) waw (@) 3g WY ¥
% fafad
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